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(1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@S - 1/ PART -1
Siemens gl laTeEsErEEGD e waiéseb. 15x1=15

Qar@&siiul_Herer mreT@ WLIHMm L sald Wsa|b oHLeL W
AaLamws Casrrasdsss GHULGLa dorwmauyb Gersg
GT(LPSHEYLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1. . & Qpdlapenpulier @5 Gumsioren Hlencenwis GHés Neeumb erg) LiwemBEmg ?

(1) BigW (<) Big A (@) BigO () Bigs'
Which of the following is used to describe the worst case of an algorithm ?
(a) BigW (b) BigA (c) BigO (d) BigS

2. o (meuamwly SPWLLLTE FTe| Ues ereucurm BepssliubGdmng ?

(<®1) Concrete datatype (<) Built-in datatype
(@) Abstract datatype () Derived datatype
The datatype whose representation is unknown are called as :
(a) Concrete datatype (b) Built-in datatype
(c) Abstract datatype (d) Derived datatype

3. euggren evdflllen. Quiss aThg ellensen 2i(ps5s5 GCeua@bd ?

(1) F1 (<) F5 (&) F3 () F2 -
Which key is pressed to execute Python Script ?
(a) F1 (b) F5 (c) F3 (d F2

4. Qemeumd ety e(m Gummer Gewiw Ceuanriqwens Srwraflafng ?

(1) @@L (&b (<) Quss Henwoliy
(@) Hlred Quwirng (FF) Qam@Lliumes
Which of the following defines what an object can do ?

(@) Interface (b) Operating System
(c) Interpreter (d) Compiler

5. seaflafl GLedled 2 6Ter cuaThiGeneT WTT UrTepeuud wHmibd LweaTUHSS (LPiguyb
erameng euanypedMULBSHID @ UrgsTlL Gamfléd mrub :
(=) Sigsd sLuur® (<) sLaF Qgme
(@) smendlsp (FF) &b
Which of the following security technique that regulates who can view or use resources in a

computing environment ?
(@) Access control (b) Password

(c) Certification (d) Authentication
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Weneumeuaneupmier ey sygHenet giammi@n Qawnsh -
() <> (<2t) {) (@) 0 (/) []

Which of the following is the Slicing Operator ?

(@ <> b {) © (O @ ]

eugsrailer Qummenar 2 HeursEb Gaweipany T SienpdsLBHEIDS.
(1) LHLEmSSD () 2454

(@) srenmimeurssHe (/) S PnQ

In Python the process of creating an object is called as

(@) Initalize (b) Constructor

(¢) Instantiation (d) Destructor

AsrH&suul L sapeop Qeupilarors QusEeausnE, [Gearaeuameunmier Fiflwirer
gamns CaiblsHEsa|b.

if : print(x, "is a leap year")

(1) x/4=0 (<) x%2=0 () x%4=0 (rF) x%4==
Pick the correct one to execute the given statement successfully.

if : print(x, "is a leap year")

(a) x/4=0 (b) x%2=0 (©) x%4=0 (d) x%4==

SELECT gapmis@ LwetU(d Slereaid ergl ?

(1) X (<)o (@) o (rr) I
What symbol is used for SELECT statement ?
@@ X N ) B (© d I

If List = [10, 20, 30, 40, 50] erafléd
List [2] = 35 -éi1 edlenL_ :

(<=t) [10, 20, 35, 40, 50] (<) [35, 10, 20, 30, 40, 50]
(@) [10, 35, 30, 40, 50] (/) [10, 20, 30, 40, 50, 35]
If List = [10, 20, 30, 40, 50] then List [2] = 35 will result :

(@) [10, 20, 35, 40, 50] (b) [35, 10, 20, 30, 40, 50]
(©) [10, 35, 30, 40, 50] (d) [10, 20, 30, 40, 50, 35]
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CSV Gamdauneng . GTETOND D &HBILIHE D).
(<) String File (=o,) Flat File () Random File (rr) 3D File
A CSV file is also known as a s
(a)  String File (b)  Flat File (¢) Random File (d)y 3D File

SQL - Waayd Qurgienns LTRSS ILIHD sabhmy -
(<) execute («2},) cursor (&) commit (/r) select
The most commonly used statement in SQL is :

(a) execute (b) cursor (c) commit (d) select

Glemeupid evugsren Golwennuler QeuefluS® erear ?
for x in range (5):
if x==2:
continue

print(x, end="")
(=2)0134 (=4)012 (@) 01234 (fF) 0123
What is the output of the following snippet in Python ?
for x in range (5):

if x==2:

continue

print(x, end="")

(a) 0134 (b) 012 (¢ 01234 (dy 0123

SIMANFG| CUETRIGEETUD RETHILL L @heon &8 Haguier sramlss

LweuhEmg).
(=) QumrmeTser (<) @evL(psid
(&) euenygene (/) Greg Gumil
is a collection of resources assembled to create a single unified visual display.
(a) Objects (b) Interface
(c) Graphics (d) Dashboard

@ sreysseTsdld 2 drer srencu euflepFwIrgsd Qe LweTURW clause :

(<) GROUP BY (<24,) SORT BY (@) SELECT (r7) ORDER BY
The clause used to sort data in a database :
(@ GROUPBY  (b) SORT BY (c) SELECT (d) ORDER BY
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U@QQ - II/PART - 11

G@PILY : sTemeuGuenid oM Ve s @EnsE e waldsa|b. eflam aam 24 -&&

Note :

16.

17.

18.

19.

20.

21.

22.

23.

24.

SLLmurs cNenLwefldHsea]ib. 6x2=12

Answer any six questions. Question No. 24 is compulsory.

ST S(HEUDTEHEHLD QUHS GTEIDTE) GTEIe ?

What is abstract data type ?

eugsraier o arer LOCaun QewpEHaeT Wrane ?

What are the different operators that can be used in Python ?

CoLev erespmed Gresasr ? ST CUENSHENET 6T (LPSI%.

What is searching ? Write its types.

Qewipendler LOCaM CUMESMET GT(DSIS.

Write the different types of function.

Matplotlib -6v 2 dter STAULBSHSHD uSEHeneTL UL Iqu16dl(Hs.

List the types of visualizations in Matplotlib.

ugflenay HOID euenewenoliy sTey HfsEL Qe Gu o eter Coumur® eree ?

What is the difference between Hierarchical and Network data model ?

CSV GamliLy eTeimmed Greier ?

What is CSV file ?

STeySHeT L euananuiled(mhgl simersgl udlesamenyb GumeugshaTear eudlpenm
Grg ?

Which method is used to fetch all rows from the database table ?

enugGTen pop() GEwDander LiWener 6r(Lpsis.

Write the use of pop() function in Python.
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@@ - 11 / PART - III
Goluy : G o ANamssEréEE oL walsseyn. elarr eram 33 -&@
sLLnwwns el welldsa|n. 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.

25. pure wPHMID impure QFwWHamDerD Coumu(H&es.
Differentiate pure and impure function.

26. list - 2.6maT 2 (HULSmeT BigmiGh LeoCeumy auflpenpsar wreney ? eT(HSSIESHTL D
&

What are the different ways to access the elements of a list ? Give example.

27. Asymptotic GOWH — @AY euenys.
Write a note on Asymptotic notation.

28. if..else.elif penpl) LwaTLHSSH QSTHGSLILLL ey eramsetler QU eraTenenTs

sarHilliyLugHsTar QUImSSLTE Hrme er(psis.

Using if..else..elif statement write a suitable program to display largest of 3 numbers.

29. Yereumeuaneuperp LUDH SGHS TOHSHESTHL6ar Sm GOLY euenrs.

(<) capitalize( ) (<4,) swapcase( )
Write a short note for the followings with suitable example.
(a) capitalize( ) (b) swapcase( )

30. eugsTafld sdl wHmb SP9EmeT eTeleuTy euETWmILILIM ?
How will you define Constructor and Destructor in Python ?

31. Scripting QumQuiler LweTurH&6Er Wrene ?
What are the applications of scripting language ?

32. Where gienent flenedsmmdlen Lwem ererar ? Where sapenmll vwetu(sd @m
LSS SaDedm 6T(LPSaLD.

What is the use of Where clause ? Give a Python statement by using Where clause.

33. SQL -eb 2.ater TCL sl Lenargener LUpPl S GOILIY euenys.
Write short notes on TCL Commands in SQL.
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GO : NSS! e (@@ eflent_wefdaa|ib.

Note : Answer all the questions.

34.

35.

36.

7472

5x5=25

(1) BT6Y HMHAITESID GTeueUT) QaweLBggHeuT? THSGGET_HLar eleTéEs.

ANV
(<) @ows CsLd erenpred erenen ? rQsgEasT_Hem 6lers @,
(@) How will you facilitate data abstraction ? Explain it with suitable example.
OR
(b) What is Binary Search ? Explain it with example.

(<=4) input() wHmD print( ) DewphsEmmEmer rHESHSSTL(HL o NeTHEGS.
{60605

(<) wrdluller cueprQuidamagemer eTHSHIGHTL (L6 69l6TdEs.

(a) Explain input( ) and print( ) functions with examples.
OR

(b) Explain the scope of variables with an example.

(<=4) range( ) -a1 CpM&aD erevien ? T(HSFHS ST (HLar ellensdEs.

SI6V6VF)

(<=4,) Qemeumd 2 peyflene @uipsarils Qewp@Ehamer THSSISHT.(HL e eNeTdEs.

i) o bsd (i) GCeul@ge
(i) Ceumur@® (iv) srieflue CUmESD

(@) What is the purpose of range( ) function ? Explain with an example.

OR
(b) Explain the following operators in Relational algebra with suitable examples.
(i) UNION (i) INTERSECTION
(iii) DIFFERENCE (iv) CARTESIAN PRODUCT
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37.

38.
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(<) SQL -& samisar wireneu ? geubeurandp@nd sl LeneraeneT 6T(L95)s5.
O|6VEVG)
(<) C++ el Gueren euSHTENET LIGHTLIS SamEmeT 6T (Lpgis.

(@) What are the components of SQL ? Write the commands for each.

OR

(b) Discuss the features of Python over C++,

(=1) eugsraier gm Carlamu Liglugharar LG auBlIPDSMET 6T(PSIS.
60605

(<) Matplotlib Slepyuller sranriiuBib LOGaumy CuTSSTeGameT eNeTEHES.

(a) Write the different methods to read a file in Python.
OR

(b) Explain the various buttons in a matplotlib window.
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